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M1 MTForo7G=(V,E) ZRURLRE W,
Draw the following graph G = (V, E).

V = {U07 U1, V2, U3, U4, ’05}

E = {eo, e1,€2,€3,€4,€5,€6,€7,€8}

8*@0 = Vo 8760 = U1 8*@1 = Vo
8*@ = 8762 = Vs a+€3 = V2
8+e4 = Vg 8764 = U4 8+e5 = Vs
8*@6 = V3 8766 = V4 8+e7 = V4
E)*eg = U4 3768 = Vs a+€9 = Vs

F—br~ b fEET R

8761 = V2
8763 = Vg3
8765 = U1
8767 = Vo
(9769 = V3



2 MUFDrI 725 TRLEEIW,
Show the symbolic representation of the following graph.

80

€0 €6 €9
€5

BREG MR, Wh STEMANDGR 0F 2o - REERT,

At first, we show the representation using the map 0% from edges to vertices.

V= {UO;U17U27U371}4)U5}

E= {60; €1, €2, €3, €4, €5, €, €7, €8, 69}

a+60 = Vo 8_60 = U1 8—’_61 = Vo 6_61 = U4
a+62 = U 8_62 = Vg3 8—’_63 = U1 8_63 = Vs
8+e4 = V2 8_64 = Vo 8—’_65 = V2 8_65 =V
8+e6 = V3 8_66 = V2 8—’_67 = V4 8_67 = V2
8+eg = Vs 8_68 VU3 8+€9 = Vs 8_69 = U4

Kz, THSED SBUDEEANDER §* ZHW-RHZ2 R,

Next, we show the representation using the map 6% from vertices to sets of edges.
(5+U0 = {60, 61}
6tvr = {eg, €3}

5+U2 = {64, 65} N

(5_1]0 = {64}
(5_1]1 = {60, 65}

0" vo = {eg, €7}

5+U3 = {66} 5_U3 - {627 68}
§Tvy = {er} 6" vy = {e1,e9}
(5+U5 = {68, 69} (5_U5 = {63}



